| Efficiency vs Dxy |

> 0.8r
= C
§o) C
cg 0_7:_ .....................................................................
>\ -
© C
T S e 0 e
Q C
© 0_5:_ ........................... | I S S SO SO
0_4:_ .................................................................
0_3:_ .........................................................
0_2:_ .........................................................
0_1:_ .........................................................
OJ..\O:IIII:IIII:IIII!I I!IIIIIIIIIIII
% i
x i
1__ ............................ B oy ey s DR D

0.9

%0 -1

510 15 20
TP dxy (cm)

5°10 =5

—=— DQM_original_stepZ_tibar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom

0.2 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
N . ; T T T
> : :

€0.18
)
_5 0.16
(&)
£0.14
()
0.12
0.1

...............................................

0,08 o
006:_ '''''''''''''''''''''''''' ................................
0.04 e + ----- by | & TR SRS
002 i Y ot
o l(l"'
&‘3 1.05;— ---------- ............ | r e
1;_ """"" ' """""" ;"irﬂ' 0-0;--—-11--1.0-0?1. .....................
0.95;— ---------- ------------ -4 *‘5., N Rep
0.9t i i Tl 16 :
=30 -20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


